My oftice how @ M 2:45-3:45/W (1-/2
MLC is ovailoble From next Monday
(Smu'.\ Fase 34'0),

S When w is o
R ! h—‘t"\ bt o"P a. Whnv\ nis QVenJ_,r—— IAI) — Q

—_——

gecﬁow / 2 Conﬁnue,cl

O\ SSume o-ll ,ett:m-s ore fosﬁive m| numL&bs-

. [2°=2
B\/ @ , WL@V\ (o G4 foSH'NQ, We have_ “Ja—: O_ 1-%:2.

FH)W\ how onm

We Con Wse t"fS mSult to remove tluz n’tl\ fowev 'ﬁram {:llq,
k-oqln’c.ov\t:

@P L’\[—ZGQL"I.QO& 20b = ,|(2°)2°' (20)*- [20b
Q!iiéi;
@ ol = ,Ia b* o O\bJ—

CChor I, "[22P P o=

@ ‘[ b [P
—m\t’“‘c A (R

3.02h¢ oite
S “ﬂ?“‘ we. l’lq\/e_ 0~ N’homal QXJ?)'QSSnona anSe JQVlomMach
'\ \/
is ot tLe ‘Fo"ow«'mJ Form - \(—0? u/llem. Ié"(", a2 o

E | ¢ T
o) @ Tw
W@ Wll H‘e— to l"o‘fionoulizq, o clenom:‘md'oh l
z"‘"]ﬁfl)’ nfg;k on LotL. tl\a ﬁof) ch -tLe LOftW

So tLa'l: -tJ\e Lotfom LQCnme,.s o




4 p> P A3 G .4_]-&-4@_15_ Yo
@ o' EE i ol @ ol | ot
o

n N[ on-k
- Raﬁonol EXFOVEWB (o ";—

: Left _':‘_\— La_ (- N‘(‘l’ovlo\l Y\MW'LOV Suc,l\ tl\a(’. n is a roSc'fiuc. :’n-ﬂver

greotay than 1, @Q"‘:‘

L% “JB\_ exists tl'ley\ ’) :\/nJ—&
C)\%= O\*w= (Q*): 9_) 0\% _ C,\ﬁ)w\: nm

“(m -:,—" L" m 0
O = o™= (o= 3) o= (o)s (o)
* L.ow ot exranen’cs still kous wl'lcn m owwl n are ony Ve&' numlm«_s
n + a\" n " "
0 0l : g ® (2)= @) - (%)
o 0ﬂ=a J o (
M’ _ mhn _ M-'V\: -n |
@ (0")= o O & m—wl gk
@ (ob) ": O\“ Lﬂ _O_C_: = _b—'\—

{

E : o N | 4 _1 _ I l
.l:_x.a)é_g)g‘ 1 32(3\[_:3—) ‘_qgff'l)'?*—lﬁ-;: )

a (as L4)L2: (03)‘5. (L4)”L“= OL%' L = J_c_x? L* = o-fo-b®
10 V¥ )\ 3oy b ) e LY :-i-agﬁ—%—%
@ ( b3 )( o )— ();5)*( as )- b3 of 4;;_:1%*"%



USMD {;lr\e, [a\w ot eromni’}, wWe cCoap ComLMQ, V‘O*J'.c"‘lf

“"“"3:%4—1:%
with ditterent indices /@ < A
i 3 + " L4l 1 M
t)( S;ml),«'f)f @ @ ‘| o\ = a*_ o’ aq.'i'z:al :l {__—O\q
3 b L-;- { |
@ =



Secfion /3 Alcv?zzl?}-otfc EXF}'QSS{MS_

(Domofn.__)

Alaglprqi c EXFRSS‘?M

: AV\ Qxth ssion oLfaine.tl loy off’)*:‘no -1‘, - X - }oomr, oot
/—)K,Y’ a,b-- —) 1, -3 %, Ja
o Vakiab RS onJ Constants

_E,i )% - 3,’7(—3

e
E-

2+



